
The algorithm has a little bit of a symmetry to it. I 
have a very weird way to memorize this algorithm 
tracking the two corners in UBR and UFR around the 
cube as I do it. But I know that many of my friends do 
it di�erently. Find what suits you best, it is not too 
hard or long. 

Name Diagram Algorithm

Di�culty

A (a)

A (a)

A (a)

A (a)
x [(R' U R') D2] 
[(R U' R') D2] R2 
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x [(R' U R') D2] 
[(R U' R') D2] R2 

A (a)
x [(R' U R') D2] 
[(R U' R') D2] R2 

XXX

A (b)
x' [(R U' R) D2] 
[(R' U R) D2] R2 

XX

U (b)
x [(R' U R') D2] 
[(R U' R') D2] R2 

XXX

U (a)
x [(R' U R') D2] 
[(R U' R') D2] R2 

XXX

H M2 U M2 U2 M2 U M2  

XXX

T
[R U R' U'] [R' F] 
[R2 U' R'] U' [R U R' F'] 

XXX

A (a) x [(R' U R') D2] 
[(R U' R') D2] R2 

1/2

A (b)
x' [(R U' R) D2] 
[(R' U R) D2] R2 

U (b)
[R U'] [R U] [R U] 
[R U'] R' U' R2 

U (a)
R2 U [R U R' U'] 
(R' U') (R' U R')

H
M2 U M2 U2 
M2 U M2  

T
[R U R' U'] [R' F] 
[R2 U' R'] U' 
[R U R' F'] 

J (b) 
[R U R' F'] 
{[R U R' U'] [R' F] 
[R2 U' R'] U'} 

Y

F R U' R' U' 
[R U R' F']
{ [R U R' U'] 
[R' F R F'] }

R (b)
[R' U2 R U2] [R' F] 
[R U R' U'] 
[R' F'] R2 U'

R (a)
[L U2' L' U2'] [L F'] 
[L' U' L U] [L F] L2' U

V
[R' U R' d'] [R' F'] 
[R2 U' R' U] 
[R' F R F]

F
[R' U2 R' d'] [R' F'] 
[R2 U' R' U] [R' F R 
U' F]

G (d) [R U R'] y' R2 u' R U' 
R' U R' u R2 Z

U2 [(R U R' U) 
(R' U' R' U) 
(R U' R' U') R2 U R]
M2 U M2 U M' U2 
M2 U2 M' U2

E
x' [(R U' R') D 
(R U R')] u2 
[(R' U R) D (R' U' R)]

N (a)
[R U' R' U] (l U) 
[F U' R' F'] [R U' R U] 
(l' U R')

2/2

G (b)
 

[R' U' R] y R2 u R' U 
R U' R u' R2

G (c)
 

R2 u' R U' R U R' u 
R2 [y R U' R']

G (a)
 

R2 u R' U R' U' R u' 
R2 [y' R' U R] 

N (b)
 

{(R' U L') U2 (R U' L)} 
{(R' U L') U2 (R U' L)} U'

J (a)
[R' U L'] [U2 R U' R' 
U2] [R L U']

Notes

The algorithm has a little bit of a symmetry to it. I 
have a very weird way to memorize this algorithm 
tracking the two corners in UBR and UFR around 
the cube as I do it. But I know that many of my 
friends do it differently. Find what suits you best, 
it is not too hard or long. 

This is the exact same type of motion you do in 
A(a). If you memorized it by motions instead of 
notation, you should be able to do this one 
without too many problems. 

Note how the algorithm is basically always R and 
then U' U U U' in that symmetrical order accom-
panying the R, and lastly R' and fix up rest by 
aligning pieces. 

The way I remember it: R2 U, then the RUR'U' 
trigger, then the last two letters of the RUR'U' 
trigger, then do R' and fix up rest by aligning 
pieces and putting them to their right positions.

A very easy to remember algorithm. Note how the 
M2's always alternate, and in between you simply 
have just U, U2, U  

I find it easy to learn this algorithm by tracking F2L 
pairs around the cube.RUR'U' takes out a pair. R'F 
hides it and takes the other pair out to the top layer. 
R2U'R' aligns this pair with the whites and hides that 
pair. Now all the pairs are hidden from the top layer. 
Now we do U' on the Top Layer. Finally RUR'F' takes 
the second pair out and aligns it with the whites again, 

Badmephisto’s PLL Algorithms



The algorithm has a little bit of a symmetry to it. I 
have a very weird way to memorize this algorithm 
tracking the two corners in UBR and UFR around the 
cube as I do it. But I know that many of my friends do 
it di�erently. Find what suits you best, it is not too 
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A (a)

A (a)

A (a)

A (a)
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x [(R' U R') D2] 
[(R U' R') D2] R2 

A (a)
x [(R' U R') D2] 
[(R U' R') D2] R2 

XXX

A (b)
x' [(R U' R) D2] 
[(R' U R) D2] R2 

XX

U (b)
x [(R' U R') D2] 
[(R U' R') D2] R2 

XXX

U (a)
x [(R' U R') D2] 
[(R U' R') D2] R2 

XXX

H M2 U M2 U2 M2 U M2  

XXX

T
[R U R' U'] [R' F] 
[R2 U' R'] U' [R U R' F'] 

XXX

Name Diagram Algorithm

A (a) x [(R' U R') D2] 
[(R U' R') D2] R2 

1/2

A (b)
x' [(R U' R) D2] 
[(R' U R) D2] R2 

U (b)
x [(R' U R') D2] 
[(R U' R') D2] R2 

U (a)
x [(R' U R') D2] 
[(R U' R') D2] R2 

H
M2 U M2 U2 
M2 U M2  

T
[R U R' U'] [R' F] 
[R2 U' R'] U' 
[R U R' F'] 

J (b) 
[R U R' F'] 
{[R U R' U'] [R' F] 
[R2 U' R'] U'} 

Y

F R U' R' U' 
[R U R' F']
{ [R U R' U'] 
[R' F R F'] }

R (b)
[R' U2 R U2] [R' F] 
[R U R' U'] 
[R' F'] R2 U'

R (a)
[L U2' L' U2'] [L F'] 
[L' U' L U] [L F] L2' U

V
[R' U R' d'] [R' F'] 
[R2 U' R' U] 
[R' F R F]

F
[R' U2 R' d'] [R' F'] 
[R2 U' R' U] [R' F R 
U' F]

G (d) [R U R'] y' R2 u' R U' 
R' U R' u R2 Z

U2 [(R U R' U) 
(R' U' R' U) 
(R U' R' U') R2 U R]
M2 U M2 U M' U2 
M2 U2 M' U2

E
x' [(R U' R') D 
(R U R')] u2 
[(R' U R) D (R' U' R)]

N (a)
[R U' R' U] (l U) 
[F U' R' F'] [R U' R U] 
(l' U R')

2/2

G (b)
 

[R' U' R] y R2 u R' U 
R U' R u' R2

G (c)
 

R2 u' R U' R U R' u 
R2 [y R U' R']

G (a)
 

R2 u R' U R' U' R u' 
R2 [y' R' U R] 

N (b)
 

{(R' U L') U2 (R U' L)} 
{(R' U L') U2 (R U' L)} U'

J (a)
[R' U L'] [U2 R U' R' 
U2] [R L U']
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